) GROUP 2 QUESTIONS

1) a) A group 2 metal, X, fizzes when added to water. When a solution of sodium sulphate is added to a solution of
XClz, a white precipitate is formed.

Identify X and write equations for reactions occurring.
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b) A group 2 metal, Y, has no visible reaction when added to water. When a solution of potassium hydroxide is
added to a solution the nitrate of Y, a white precipitate is formed.

Identify Y and write equations for reactions occurring.
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c) State the trend in atomic radius down Group Il from Mg to Ba and give a reason for this trend.

.............................................................................................................................................................................. (2)
d) State and explain the trend in melting points of the elements down Group Il from Mg to Ba.
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e) State and explain the trend in ionisation energy of the elements down Group Il from Mg to Ba.
=] oL OO O PP PP PRSP POPP
FREASON ...t et L et e e E et e e b et e s et e e R r et e nr e e n et e e e e ae
............................................................................................................................................................................. (4)

© www.CHEMSHEETS.co.uk 23-January-2019 Chemsheets AS 1063



2)

b) i

d) i

Radium is the element below barium is Group 2.

State whether or not each of the following is soluble in water.

i)
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Is the atomic radius of radium more or less than that of barium? ...,
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Is the first ionisation energy of radium more or less than that of barium? ...,
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Is the melting point of radium more or less than that of barium? ...
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